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20194 E* 20204 E* 20214 20224 &5 (M)
A BhE &R Es%E 10,667,800 29,029,540 29,149,540 29,769,540 98,616,420
B.EHOD&%:  r RE&%S 6,580,000 6,580,000 6,580,000 6,580,000 26,320,000
&t (A+B) 17,247,800 35,609,540 35,729,540 36,349,540 124,936,420
HEhE (A/(A+B)%) 61.9% 81.5% 81.6% 81.9% 78.9%
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20194 20204 20214 20224 & &5 (M)
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% 2019 E 20204 20214 2022 &5 (M)

E&HREEA 3.5% 314,240 778,480 1,203,480 1,203,480 | 3,499,680
EITEEA 5.0% 500,000 1,250,000 1,250,000 1,275,000 | 4,275,000
A&t 814,240 2,028,480 2,453,480 2,478.480 7,774,680
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20194 20204 20214 20224 &5 (M)
&% (A+C+D) 14,062,080 36,419,960 38,612,140 39,257,140 128,351,320
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20194 20204F 20214 20224 % CElGE))
A. BhAEFREEEE ROEEN OIS 10,000,000 25,000,000 | 25,000,000 25,500,000 85,500,000
ICHRYShBER
EERE 667,800 4,029,540 4,149,540 4,269,540 13,116,420
EBREDVES 6.3% 13.9% 14.2% 14.3% 13.3%
B.BCE%® - EITHAEAN DB E 0
RM&E® ICHRYShBER
EERE 6,580,000 6,580,000 6,580,000 6,580,000 26,320,000
EBEREDNES 100.0% 100.0% 100.0% 100.0% 100.0%
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20194 20204 20214 20224 &5 (M)
EITAEANOBBRFICTLEINDER 10,000,000 25,000,000 25,000,000 25,500,000 85,500,000
EEBICHOZEE 58.0% 70.2% 70.0% 70.2% 68.4%
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(1) EROREOEERME
20194 20204 20214 20224 &3 (M)
EBRE 667,800 4,029,540 4,149,540 4,269,540 13,116,420
(QEBEEMREDAR
= o FHARM GHERICL YAV BEIEEREBHERIC L TEEW)
G EFREEE & [ #B [x] & [ B& [=] st ] BOIREL
LS EIRE 275,000 | BERT—LR— 200,000 X 200,000
BERFI 50 X 1,500 ® X 75,000
LEE 392,800|#i% - BEE 5,000 x 10 % X 2] 250,000 #E£ZE10% —[E5000 (GZia#R)
S 28560 x 5 [l 142,800
20194 FE/NEt 667,300
UNGE= 1,344,960| A& 112,080 X 12 nA X 1,344.960 AMFBEFTHE - 122EBH) x 24 xZHHF015x12H B
e 1,613,880 | XA RE 134430 X 12 A X 1,613,880 ZFMI#h3E 78 + 12 = 896600M X 15 =03
Zith 360,000 | A ZREEE E B 120,000 x 3 2] 360,000 FERZFER +ZIEIH 4 =405 x =245 EEE0.3 x 3[a]
DES 441840( &8 Y — 2 k& 36,820 x 12 » A 441840 El - HEH - BESEETE + 1205 = 184100/ x #4103
S 194,940 [>¢#h2& 16,245 x 12 »A 194,940 BSAFE 12/ F=30800M x 4> tb 0.2
EHHESE 73,920 | EH5HFE M 6,160 X 12 A X 73,920 FHIEFEME TH + 120 A =30800M x 24 E#0.2
20204 BE/Na 4,029,540
UNGE - 1,344,960 | A 142 112,080 | X 12 A X 1344960 ANHEEFE - 122@EH) *x 22 x5 HF0.15x 120
En g et 1,613,880t RE 134,490|>< | 12|17 A 1,613,880 FMAZILRETE 12 896600 x #43 k0.3
8 480,000 (4} #REEZE A 120‘OOO| x 4 El 480,000 FEMIZEER - HILEH 4 =407 x 4 EFK0.3 % 3[E]
) —=$ 441840(FBY — 2% 36,820 x 12 A 441840 £l - HTH - BESEMTE + 1205 = 184100/ x 4 HH0.3
HEE 194,940 S 025 16,245 X 12 A X 194,940 BRI FE + 124 A =30800M x #24> Lb 0.2
EEEERE 73,920 | EHHESR 6,160 X 12 A X 73920 EHHEMRETFHE ~ 12/ A = 30800/ x 24t 20.2
20214 FE/NEt 4,149,540
UNGE = 1,344,960 A& 112,080 X 12 A X 1,344,960 AMFEFH ~122EE#H) X 24 x ZHHF015 X 12h
1S RE 1,613,830| 34 RE 134,490 X 12 A 1,613,880 FRFTIREFE + 12=896600M x #2453 kb30.3
E-5e s 600,000[ 4 2pEcZ 2 120,000 X 5 [ 600,000 #fFRIZFER+ HIEEK 4 =405 x EHHE03 % 3
Y —2Kt A441840( &8 Y — 2 K& 36,820 x 12 A 441840 = - EEH - BEFFMTFE 124 5 = 184100/ x
Seangs 194,940 | ¥ 212 16,245 X 12 HA X 194,940 BEATE + 124 H=30800 x 4>t %0.2
EHHERE 73,920 | =5 EER 6,160 X 12 »A X 73,920 EEEERE TE + 121 A =30800M x 24 L£30.2
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20194E 20204EF 20214EF 20224 &it (M)
7O55 4 F7 4 —ORETEOEDHE 2,580,040 5,361,940 7,009,120 7,009,120 21,960,220
355707540 74— DAER 2,400,000 4,800,000 4,800,000 4,800,000 16,800,000

5 5 Z DO EDHE 180,040 561,940 2,209,120 2,209,120 5,160,220
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A&
N 2,400,000] 7525 147 14— 400,000 X 6 »A X 2,400,000
ZOfDEEE
e 84,040 |7z 2 29,440 X 1 FE X 29,440 EEHTEIRAPRII 1 = 14720 x 2
EA 10,900 X 4 pi=] X 43,600 —A10900MT4E (J ANP | AFFE)
B 2200 X 5 =] X 11,000 2200f3 <58
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2,200 X 12 =] X 26,400 220079 x 4 B x 3(8]
B 192,000 16,000 X 12 A X 192,000 — A 156000M® RAiH Y
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20204 B /AT 5,361,940
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ZOfDFEEE
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LBB 157,120 5000 X 10 % X [l = 100,000 #%ZB104 —[E5000M (#iRE)
SBER 28,560 X 2 @ X 57,120
=itE 1,500,000 | & =g #HE 500,000 2 3] 1,000,000 BEEREE (BH55 x 10 Bik=505 x 2 @)
% DAHHE 500,000 1 =] 500,000 #FHTY - ESEHEOE (BE5 5> 1 0Hikx 1E)
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(1) BN BREEO MBS =R
20194 20204 £ 202148 20224 EHG))
EEHREAOHIELER 314,240 778,480 1,203,480 1,203,480 3,499,680
PRELEC AR 2.9% 2.7% 4.1% 4.0% 3.5%
(2) BEHBEEDTMBESERE DR
. e BEFR GIERIC & ) A7 B AIEARRIRI LT 2E L)
o EH BmE) [x] 8 | wk [x] @& [-] wsf | %
KRB 314,240 |#% - xiE#E 5000 X 10 % X = 200,000 1A1[=15000F
SHE 28560 X 4 [8] X 114,240 —[EIf#f328560M
20195 R/ 3t 314,240
KRB 628,480 |#i% - xiEE 5,000 X 10 % X = 400,000 1A1[=E15000F
SHE 28560 X 8 [=] X 228,480 —[alfEF328560M
FNRIZ 150,000 (% - FAEEN 500 X 150 H X 75,000 H{f500/3 % 1501
BAEA Y A 500 X 150 biiig X 75,000 H{f500/3 % 1501
20204 FE /) 3t 778480
REE 628,480 |#i% - B 5000 X 10 & X = 400,000 1A1[=E15000M
SHE 28560 X 8 [=] X 228,480 —[alfE7328560M
FNRIZ 75,000 |[FxH & 500 X 150 H X 75,000 H{f500/3 % 1501
=B 500,000 7 > 7 — hiEE 500,000 X 1 [8] X 500,000 RITRGERERT > 7 — H3HE20004
20214 EE /5 1,203,480
KRB 628,480 |#i% - iEE 5000 X 10 % X = 400,000 1A1[=E15000F
SHE 28560 X 8 [=] X 228,480 —[alfEF328560M
FNRIZ 75,000 |[FxH & 500 X 150 H X 75,000 H{f500/3 % 1501
=B 500,000 7 > 7 — FEE 500,000 X 1 [8] X 500,000 RITRGERERT > 7 — H3HE20004
20225 FE /5 1,203,480
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